BEV [SH6FEE M TEL IO Y RERBRE] OIR—VZTREELBRABVET,
FEOFHE
SH6EE WTEBIK WRRKSFEFER)
(HF6F4R1B~5FTE3A31H)
R BE S
=it EH RS
IR AKEER 6,463,000
X SR 6,463,000
=58 0/
(XA D EB) (BEfz 2 )
- RIEERAEE | AEETHEE LB .
IEH FHEHEE A ®) (©)—(B-A) w =
1.%4& |XfT% 4, 964, 000 4,962, 000 A 2,000
2. 3NA [HEA 26 890 864 |Er&H St
3.IEAE B A® 0 1, 500, 000 1,500,000
4. BEe 84 110 26
& & 4,964,110 6,463,000 1,498,890
(KD ER) (BfL 2 /M)
=G JRE— BIFEAERE | AFETERE | BIER & =
(A) (B) (C)=(B-A)
1EEE 3R 410,000 450,000 40,000|% &%REi244
- EHE Ew 1,400,790 1,479,000 78,210 |#BRAES@1140(607 ¥ 7)
HREE 0 0 0
=" 4,950 10,000 5,050|z8%
HFEmE 306,995 310,000 3,005 |EHARMEE
ARLE 0 0 0
RigE 84,611 85,000 389| %t
IR & AE 501,930 400,000 /\ 101,930|£#R30044£100
FEIKE 0 0 0
(=3 8,800 15,000 6,200/ =EB=En7avE
BEERE 120,797 130,000 9,203 | BFEAV 44y MIF
FHER 0 2,000 2,000 |#rar Hts
{REREL 0 0 0
FEErRt 72,000 72,000 O|HPA/FFYA
ERREVERER 278,400 278,400 0|zsmzEn260nps-r -Lomisa
R RIE 0 0 0
EmBEAE 1,074,127 2,592,000 1,517,873 |Bh 5% 523024855290
=Fi=k 200,600 138,000 /\ 62,600|#m >y 137 ELEL1
27831 =V 500,000 500,000 O [srsicrm - prsmem s
3.¥7HE | FRE 0 1,600 1,600 X FEEZHE
& & 4,964,000 6,463,000 1,499,000




